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83-H 2  CCE RR   

 (24)512-RR(A)  

 10 × 1 = 10 

1. 

 (A) 7 9 (B) 18 7 

 (C) 7 18 (D) 9  7. 

2.  

 (A)  

 (B)  

 (C)  

 (D)  

3.  

 (A)  

 (B)  

 (C) 

 (D)  

4.  

 (A)   

 (B)  

 (C)  

 (D)  



 CCE RR   3 83-H 

 (24)512-RR(A)  [ Turn over 

5. éF_k  

               

 5000 J  

 (A) 500 J (B) 5 J 

 (C) 0·5 J (D) 50 J. 

6.  

 (A) FeSO
4

 + Pb    PbSO
4

 + Fe 

 (B) ZnSO
4

 + Fe    FeSO
4

 + Zn 

 (C) 2 AgNO
3

 + Cu    Cu ( NO
3

)
2

 + 2 Ag 

 (D) Pb Cl
2

 + Cu    CuCl
2

 + Pb. 

7.  

 

 (A) CD (B) BC 

 (C) AB (D) IJ. 
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 (24)512-RR(A)  

8. Fe
2

O
3

 + 2 Al    Al
2

O
3

 + 2 Fe  

  

 (A)   

 (B)  

 (C)   

 (D)  

9. R 

R l  R : R l  

 (A) 1 : 3 (B) 9 : 1 

 (C) 1 : 9 (D) 3 : 1. 

10. ( Contrast )  

  

 ( G )  ( A ) 

 ( g )  ( a ) 

  

 (A) gGAa (B) GgAa 

 (C) GgAA (D) Ggaa.  
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11. A B 

 4 × 1 = 4 

A B 

(A)  (i)  

 

(B)   (ii)   

(C)   (iii)  

(D)  (iv)   

 (v)  

 (vi)   

 (vii)  

  7 × 1 = 7 

12.  

13.  

14.  

15. ( pupil )

16. 

17.  

18. ( speciation )  



83-H 6  CCE RR   

 (24)512-RR(A)  

 16 × 2 = 32 

19. 220 V 40 W 

20. 

(i)  

 (ii) 

21. 

(i)  

 (ii) ( Stomatal pore ).

22. (i)  

 (ii) ( dispersed ) 

(i)   

 (ii) 
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23. 

 

     

  1 2 3 

  

 

 x  y  

  

x 20  40  

y 5  8  

24. (i) 

 (ii) 

NaCl MgCl
2



83-H 8  CCE RR   

 (24)512-RR(A)  

25. 

(i)  

 (ii) 

26. 

( cleaning action )

27. 

(i)  

 (ii) 

28. 

29. ( sustaining )

(i)  

 (ii) 

 (iii) 

30. Cn H
n2

n = 3 

31. 
1

2F  

[ 1F
 
: ]
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32. A, B, C  D 

  1 2 

 3 A B 

 4 C D 

(i)  

(ii) 

33. ( stigma )

34. ( hypermetropia )

 5 × 3 = 15 

35. 

 (i)  

 (ii)  

36.  

 (i)  

 (ii) 

 

 

  

 (i)  

 (ii)  
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37. 30 

20 

38. 

 (i)  

 (ii)  

39. (i) 

(ii) 

 

 (i) 

(ii) ( stake-holder )

 3 × 4 = 12 

40. (i)  

 (ii) 

 

 (i) 

(ii) 
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41. (i) 

 (ii) 

42. (i) ( relative )  

 (ii) ( evolution ) 

 

 (iii) 
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